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[EEE7 Py [EEE7 Py [EEEIr e

40 - 501 {EME 40 - 502 fREE 40 - 503 +fEEE

LK E 3 B SR AEKER X R XK E %

[%7kiH4] 01 - 00 [%7kiH4] 01 - 00 [%7kiH4] 01 - 00

L#KE 3 FAREKE 4 355K

BEIER KiE&] KiE&] KiE&]

ITE:ECUN AERNKRHEZ Ak

[FRknDiEE] [FRknDiEE] [FRknDiEE]

PINEE: LR - A LEE-RHFHFK E 3 SU=FAREIN &

(1 BE¥%KE] 18,966 (m) |[1BF9%KE] 97,803 (m) |[1BFHFKE] 199,634 ()

AKiEHOK AKiEHOK AKiEHOK

= =K Ty E1%k == =K Ty E1%k = &I Ty E1%k

TUFEVRUEDIEEY <0.0015 1 <0.0010  <0.0010  <0.0010 12 <0.0002  <0.0002  <0.0002 4
5V RUEDIEEY <0.0002 1 <0.0002  <0.0002  <0.0002 12 <00002  <0.0002  <0.0002 4
ZITWRUZDIEEY <0.001 1 <0.001 <0.001 <0.001 12 <0.001 <0.001 <0.001 4
1,2—9bOnIsy <0.0004 1 <0.0002  <0.0002  <0.0002 12 <00002  <0.0002  <0.0002 4
LIV <0.020 1 <0.001 <0.001 <0.001 12 <0.040 <0.040 <0.040 4
TRINEEY 2—IFIAFIIL) <0.010 1 <0005  <0.005 <0.005 12 <0.008 <0.008 <0.008 4
HIERE <0.05 1 <0.04 <0.04 <0.04 12
ZEbiesk <0.05 1
yhnaye k=L <0.001 1 0.001 <0.001 <0.001 12 <0.001 <0.001 <0.001 4
k05— <0.002 1 0.002  <0.001 0.001 12 <0.002 <0.002 <0.002 4
BEE <0.01 <0.01 <0.01 12 <0.01 <0.01 <0.01 18
BREIEHR 06 05 05 12 06 0.2 0.4 365 09 06 0.7 253
St R 37 18 25 12 40 13 23 12 72 42 56 12
1,1,1—kJoonIsY <0.030 1 <0.001 <0.001 <0.001 12 <0.030 <0.030 <0.030 4
AFI—t—TFII—FI(MTBE) <0.002 1 <0.001 <0.001 <0.001 12 <0.002 <0.002 <0.002 4
BRMEGRIVI VBN LEER) 1.7 1 18 0.7 1.0 12
R5GAE (TON) < < < 243 < <1 <1 253
EREGYTUTIEER) -1.1 -1.7 -15 12 -0.9 -1.7 -1.4 12 -1.2 -1.7 -14 12
HEXEMRR 0 1 7 0 13 12 0 0 0 12
1,1—ybonIFlby <0.0100 1 <0.0010  <0.0010  <0.0010 12 <00100 <0.0100  <0.0100 4
JKig(°C) 2538 85 16.1 12 296 82 18.6 243 297 82 18.2 253
PUEITREER
EYLFRIEERERE(BOD)
LB R ERE(COD)
LA R (UV)IR S BE(50mm T2 )L {5 F B ) 0.076 0.052 0.060 12 0.096 0.035 0.057 243 0.089 0.025 0.047 253
FAEME(SS)
(o3 gkd i 3040 40 1.3 23 12
LEHR
DV
VIBRAAY
RUNOAS D BRE
£ (n/ml)
PIVHUE 50.7 30.0 38.7 12 50.4 16.3 356 253
BEEFR
il S 18.5 7.9 13.7 12 16.0 8.8 13.6 12
BT 37.0 18.0 30.0 12
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[EEE7 Py [EEE7 Py [EEEIr e
40 - 503 {EME 40 - 505 fREE 40 - 506 +fEEE
R XK E % I # R KE 3 REMRKEREM
[%KkiZE] 02 - 00 [%7kiH4] 01 - 00 [%7kiH4] 01 - 00
wKRKIEEYA— [ #h X K8 1 2 [ %K i5 FHONIRNEKS
BEIER KiE&] KiE&] KiE&]
EK (R LRk HREZES L
[k DFELE] [k DFELE] [k DFELE]
@K [RIKZK CIN; ik
[1 B FEyEkE] 20,096 (M) |[1 AFEH%KE] 14,700 (m) |[1 B FEi9i5KE] 9,650 (m)
AKiEHOK AKiEHOK AKiEHOK
= =K Ty E1%k == =K Ty E1%k = &I Ty 1%
TOFEVRUZDILEY <0.0002  <0.0002  <0.0002 4
DIVRUEDILEY <0.0002  <0.0002  <0.0002 4
2TV RUEDIEEY <0.001 <0.001 <0.001 4
1,2—9bOnIsy <0.0002  <0.0002  <0.0002 4
LIV <0040  <0.040 <0.040 4
TRIVEES 2—IFIAFVIL) <0.008 <0.008 <0.008 4
iR
ZEibiE R
Jhoo7e b= bk <0.001 <0.001 <0.001 4 <0.001 1
k05— <0002  <0.002 <0.002 4 <0.002 1
BEE <0.01 <0.01 <0.01 4
RRIER 0.5 0.4 0.4 252 1.0 0.8 0.9 12 0.5 0.5 0.5 7
Pt 3o 38 2.6 3.1 4 6.2 2.8 42 4 5.6 1
1,1,1—M)hoaTsy <0.030 <0.030 <0.030 4
AFI—t—TFII—TIL(MTBE) <0.002 <0.002 <0.002 4
BRMEGRIVI VBN LEER) <0.3 <0.3 <0.3 4 1.2 0.7 1.1 4 2.7 1
R5GAE (TON) <1 <1 <1 252 6 3 4 4 3 1
EREGYTUTIEER) -1.8 2.0 -1.9 12 2.0 -2.1 -2.0 4 -15 1
HEXEMRR 0 0 0 12 0 0 0 4 0 1
1,1—ybonIFlby <00100 <0.0100  <0.0100 4
KR (°C) 29.7 132 20.7 252 230 11.0 16.3 12 31.0 6.5 20.9 7
PUEITREER
EYLFRIEERERE(BOD)
LB R ERE(COD)
SEIMRUV)IR S EE(50mmt )L (5 FRBY) 0.007 0.002 0.003 12
FAEME(SS)
(o3 gkd i 3040
L2ER
DV
VIBRAAY
FINOARY £ B RE
£ (n/ml)
FIVHVE 21.8 15.6 19.8 4
BEBR
il S
BT




